194 E

. TERE | A4 Bl
R | g0 AA
—ARIEE
X&_|[&SECC)| KE(CC) |EBUKE| FR 18 BES
4K /M 13.7 13.0 == B xER-& mR
68 i 26.0 23.0 == BE Bk R mR
8H i 30.7 22.0 == B kEf-$ mR
108 = 28.9 235 == B kEf-H mR
128 i 10.0 14.2 == B g mR
2R ) 12.1 10.0 xE BE e i
4 ERSIEE 3
oH DO BOD SS KBEHEHR
(mg/1) (mg/) | (mg/) | (MPN/100ml)
EZIE| 65~85] 75LLF | 10LLF | 25LLF 50LLF
EHIE(75%IE) = 9.7 0.7(0.9) <1 1300
48] 71 10 1.0 <1 7000
68| 74 9.6 <0.5 <1 4
8A| 72 9.1 <0.5 <1 500
10A| 73 8.5 <0.5 <1 110
128 73 10 0.9 <1 110
2A] 73 11 0.9 <1 30
REER
N INE D E ANEYOL WME fioK §8 7 IL¥ )L K EE|
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E] 001LUF [ EHRH | 001LLF [0.05LLF [001LLF [ 0.0005LLF
EH{E] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 —
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 —
68| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 —
8H - - - - - - -
10A]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 —
12A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 —
28] - - - - - - -
ooant .o |1L,2-070(1,1-Zan| Y X-1,2->50][1,1,1-r)%0
PCB gy, | PEERR | Drgo | 'zFLy | DIFLY aT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#(E] FEHE (00280 F [ 0.002LLF [0.004LLF[ 0.02LLF [ 0.04LLF 1T
EfE[ <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
68| <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
10A8]| <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12 8| <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
2H - - - - - - -
1,1,2-ky4 [FUZAAR|FrS900I(1,3-247A — . —sen FARA
aarsy |TFLy | FLv | odox | TIIA| YRIY %)
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#({E10.006 L F[0.03LLF [ 001 F [0.002LLF[0.006 L F[ 0.003LLF | 0.02LLF
E5fE[ <0.0006 | <0.003 <0.001 <0.0002_| <0.0006 <0.0003 <0.002
4R] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10A8]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE{E] 001LLTF 10.01LLF 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.22 <0.1 <0.1
4H| <0.001 <0.001 0.25 <0.1 <0.1
6H| <0.001 <0.001 0.22 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.21 <0.1 <0.1
12H] <0.001 <0.001 0.20 <0.1 <0.1
2R - - - - -
EDHIEHE
N e 2EX | &% @ | 28 | soosus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E - 0.32 0.005 - 0.005 <0.001 <0.008
4R - 0.36 0.006 - 0.006 <0.001 <0.008
6H - 0.29 0.006 - <0.005 <0.001 <0.008
8H - 0.24 0.005 - <0.005 - -
10A - 0.46 0.004 - 0.005 <0.001 <0.008
124 - 0.26 0.005 - <0.005 <0.001 <0.008
2A — 0.28 0.006 — <0.005 — —
BiLH MR | VoY : i (= S
IT/=| kS coD el > AE ERiEER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
EHE]  <0.02 160 0.9 <0.01 <0.01 - 450
4H| <0.02 71 1.1 <0.01 <0.01 - 170
6H]| <0.02 1350 0.8 <0.01 <0.01 - 480
8H - - 0.9 - <0.01 - 720
10H]| <0.02 81 1.3 <0.01 <0.01 - 140
12H] <0.02 340 <0.5 <0.01 <0.01 - 490
2R - — 0.8 — <0.01 — 680




TERR19EE

=9l =] I
2, BENXE| A4 BEI
(W#ER) | B2 AA
— g1 B
Xz |[SECC) | KiE(C) | HBUKZE|[ EiR =Xz EEd
45 5 11.8 14.0 == B xER-& mE
68 i 23.0 22.0 =RE BE Hixf % mR
8H & 29.1 23.0 == BE ZkEfR-H me
108 £ 27.6 24.0 == R ZEf-H me
128 g 10.0 13.8 == BE kEfR-$ me
2R £ 9.8 11.0 =B BE HZER-E | BER-H
4FRIFIER _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
=%(8]| 6.5~85 | 75LLE | 1.0LLF | 25LLF 50LLF
EHE (75%1E) - 9.7 0.6(0.8) 1 1800
48] 76 11 <0.5 1 1300
64 7.6 9.6 <0.5 <1 110
8A| 74 8.8 <0.5 1 8000
10A] 75 8.5 <0.5 4 1100
128 75 10 0.8 4 22
2A] 74 10 1.0 A 80
BEIER
N INESS R ANMESOL  HFE BiKEE  |[F¥ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#&El 001LLTF [ ER/H | 001LLF [ 0058 F [ 0.01LLF [ 0.0005LLF JERRH
EiH{E - - - - - = =
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
o004 nwe |1,2-090[11-S500|P2-1,2-250(1,1,1-k)50
PCB gy | PRERR |\ 'hrgy | 'zzey | mzFLy AT4Y
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
s E#RE [0.02LLF ] 0.002LLF [0.004LLF] 0.02LLF | 0.04LLF 1LF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8AH - - - - - - -
108 - - - - - - -
128 - - - - - - -
28 - - - - - - -
1.1.2-,y4 [FYZAD[FFS400I(1,3-090 = PN FARUA
naz4y | TFLY | FLr | nFox | TIILA| YRIY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E (5] 0.006 L F[0.03LLF | 0.01LLF [0.002LLF]0.006 L F| 0.003LLF 0.02LLF
iy - - - - - - -
4K - - - - - - -
6A - - - - - - -
8H - - - - - - -
10A] - - - - - - -
128 - - - - - - -
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E{E] 0.01LLF [0.01LLF 10LLF 0.8LLF 1LLF
EEE[ - - - - -
2/ - - - - -
6Al - - - - -
sAl - - - - -
104 - - - - -
124 - - - - -
28] - : : - -
ZTDHhIFE
N—A~FH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TiH{E - 0.25 0.006 - 0.005 - -
4R - 0.23 0.004 - <0.005 - -
64 - 0.28 0.008 = <0.005 - -
8A - 0.23 0.006 = <0.005 - -
104 - 0.29 0.005 = <0.005 - -
12H = 0.24 0.005 - 0.005 - -
28 — 0.25 0.007 — <0.005 - -
[V AR | UUBR . R
xz/—IL AA> CcoD % e AE BERECERE
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
TiH{E - - 1.1 - - - 8500
4R - - 1.0 - - - 6600
6H = = 1.1 - - - 7400
8H = = 1.1 - - - 11000
104 - = 1.3 = = = 5400
124 - = 1.3 = = = 6800
28 — — 1.0 - - - 14000




